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The following table shows the cumulative percentage distribution of the total number of visitors
to Kullu and Manali together and cumulative number of visitors to Kullu on five different days,
that is Monday to Friday. Based on the data in the table, answer the questions.

Day-wise Distribution of visitors
Dav Cpmula‘rix‘e percentage of iL(l‘urnulztti'\'e number of Visitorg
Visttors to Kullu and Manalifto Kullu

Monday 15% 360

Till Tuesday  p0% 1060

Till Wednesday[70% 1340

Till Thursday  [80% 1700

Till Friday ~ [L00% 1960)

Note: Total number of visitor to Kullu and Manali together in all five days is 4000
Sub questions
Question Number : 1 Question Id : 34212313452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The total number of visitors to Manali on Monday and Wednesday is % of the number
of visitors to Kullu on Wednesday.

1.200

4.50

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212313453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average number of visitors to Manali on all the days except Monday?

1. 560

1]
e
i}
=

4. 450
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212313454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If 20% of the visitors to Kullu on Tuesday are foreigners and 40% of the visitors to Manali on
Friday are foreigners, then what is the total number of visitors to Kullu on Tuesday who are not
foreigners and to Manali on Friday who are foreigners?

1.920
2.776
3.984

4. 344
Options:
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212313455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The average number of visitors to Kullu on Monday and Thursday is % less than the
number of visitors to Manali on Wednesday.

13329
2.63.89
3.67.44
4.50.28

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212313456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of visitors to Manali on Wednesday to the number of visitors to
Kullu on Thursday?

1%)

2.43

4.34

Options :
1.1
2.2
3.3
4.4

Question Id : 34212313451 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension



FgfoiRga arfcre A Ufd i & (@IWaR O IHaR) & G 3R §G o U oY e
e B ol T P Gl Hiad [GaRku 3R Pog o Thed! b o S el gl

et H & T iehs b SR TR Al o T i
Ted! &1 {cd - IR
I b W o S S e A e v
Monday 15% 360
Till Tuesday  p0% 1060
Till Wednesday|70% 1340
Till Thursday  [80% 1700
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Sub questions

Question Number : 1 Question Id : 34212313452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TIUGR 3R R Pl Heflcil & T &I el G §HdR Pl Gog b T ol GBI 6l
{1 Wi g7

1.200
2. 150
3.125

4.50
Options:
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212313453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AR Bl BISHR G el H 71l & Ted! $f Sigd T fdhdHi g2

1. 560
2.520
3.490
4. 450

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212313454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e TR 1 ee] o 20% T fa¢eit § T TR Bl THTelt d 40% Thed faei g,
TR P! e d d T fesil g1 ¢ 7u1 LhaR &1 THTelt o 4 Wed ol faeeil g, Bl
Gl U fobedl 2

1.920
2.776
3.984

4. 844

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212313455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YR 71 TR @l Hecl & THCh! B 310 S §HaR &1 TNl & Ted] &l §e @l
e fde TIaerd (%) BH 2

1.53.29
2.63.89
3.67.44

4.50.28
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212313456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%mﬂaﬁrmﬁﬂ%wﬁmaﬂmﬁm%Wﬁ@wﬁww

1962
2.43
3.2:9

4.34
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123529
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212313457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of learner centered Approach?

A. It lays emphasis on skills

B. It is centered on learner's needs

C. It 1s centered on cooperative determination of subject matter
D. Lays emphasis on variability of exposure

Choose the most appropriate answer from the options given below:

1. Cand D only
2. A, Band C only
3.A.B.Cand D

4. B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212313457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S Il bi<d SUNH DI fa=ivdrt Fgfafad 9 &1 9 g2

A T BN R IASdl g

B. 48 MU THGC & ATaRUGdI3 IR dBid gidi g

C. Ug 99T Aridl & YedRI YR R Si<d 8idl o
D. U8 3191 &1 URAd-=Ndd R §d odl g

I feu U 9 el § U T 3R &1 994 DIfSIU:
|.®Hadd C 3R D
HddA. B3R C

(o

A,B.C3RD
4. Had B AR D

Options :

[



1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212313458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a free and Open-source content collaboration framework based on
Javascript that enables existing CMSs and LMSs to create richer content?

|. H5P
2. Plotagon

3. Mindmeister

4. Labster

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212313458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

779 1 g offa fpp R 3R 98 B 91 e 9 e A 9] UgHR hodah § ol
AT Y1 0 T 31X U O 0 1 3Hfeleh T ferg- o ot Tl el T e aTer 82

1. H5P

. TN
3. HgSHERA

4, TR

Options :
1.1
2.2
3.3
4.4




Question Number : 8 Question Id : 34212313459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A child of first class is trying to learn how to draw a circle on his own but is able to do with the
help of his/her teacher. In the light of Vygotsky's theory, it highlights?

. Assimilation
2. Adoption
3. Zone of proximal development

4, Maturation

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212313459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGS 8T 1 U a1 T TR G &7 bl T X g ¢ o] oI 18086 1 g
T e o U7l | faTan! o gl o aireileh 0 fobl i el 2

1. THTHRT

R DORL
3. PR fapm &7
4. URUEA

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212313460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Project method of teaching was first propounded by.

1. Crow and Crow

(i)

. John Dewey

(el

. Robert Miller
4. Robert Mager

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212313460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fRreror 1 ufvarsn fafer &1 fdured gduyA fogr fear ur
1. ST 3R oI

ol f&dt

3. ¢ fHeR

4. 3¢ UIR

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 10 Question Id : 34212313461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SWAYAM is a programme initiated by.

|. Government of India

(i)

. National Council of Education Research and Training
3. University Grants commission
4. Indira Gandhi National Open University

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212313461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y (SWAYAM) foh &b gRT SR fohdl 781 Ueh HrihH 62
1. HRd TP

3. fayfaenery o ar 2T

4. ey riel ¥y Had fayfaemey

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 11 Question Id : 34212313462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If a conclusion incorporates a casual relationship between two or more variables it has measured.

. External validity
2. Internal validity
3. Replicability

4. Conceptualisation

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212313462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i U IS &1 47 34fefe TR o i BRUNED Yeit] bl GAIAY Bl g ol G fehpT
YA X o g2

1. TR dYel
2. AR defaT
3. GRIgheid (Rteidsfafed)

4. AGYRUDRT
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212313463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



An instrument used in structured observation that mentions the categories of behaviour to be
observed is known as.

1. Category schedule
2. Observation device
3. Observation schedule

4. Ontological tool

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212313463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR Viefor & We gi-aTel 39 T Pl b 0 H o1 fel 8, S Uied fobt o ared
FER & q bl Jwhg HRell g7

CUEENEER)
2. D& e (f3arey)
3. VIefuT gt

1, TAHA® SIS ()

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212313464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Response of participants who are well aware of the fact that they are being studied is considered
as.

. Directed response
2. Intentional response
3. Desire effect

4. Reactive effect

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212313464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I WiMITT 1 Sfeha bl ol AT el €, ol 29 e Y Ui § b e IR o ofege
FRIEIRSE,

1. FG TR i
» IR o

3, qifad UHE
4. i TTeHE I

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212313465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are different tvpes of ethnography?

A. Classical ethnography

B. Mainstream ethnography
C. Post-modern ethnography
D. Private ethnography

E. Expressive ethnography

Choose the correct answer from the options given below:

1. A, B and C only

(]

.B. C and D only
3.C.D and E only
4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212313465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212313466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qualitative research makes use of.

1. Scaling

. Factoring

3

L

. Representative quotations

4. SPSS
Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212313466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UIEIURD 2N [HHepT ST Pl 82
1. 3FHIY (T i)
PR (G0 (Ha )

[

3. UfdMs IS0

4, T U THTY

Options :
1.1
2.2
3.3
4.4



Question Number : 16 Question Id : 34212313467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In ancient times, the oral communication system operated in an environment that was.

|. Literate
2. Urban

3. non-representative

4. Mediated
Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212313467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui i | fdhd arrarl H HiRad GRISo Yollel &l GREferd faal STl 41

1. Y&

2. TR

3. 7R - faffed
4. H1eAd (HIfSTCS)

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212313468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Any study of messages at the recelvers stage is known as.

1. Communicator analysis

(i)

. Message analysis

(el

. Noise analysis
4. Audience analysis

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212313468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui & IR0 IR Yo & fardl 4T e &l {69 =0 H S Sl 82
1. GRS [a%eu

2. Gaxl fazeyu
3. QIR fa=emor (Higs THIfeiE)
4. TR (3TSTY) fazemur

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212313469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are main functions of mass communication?

A. Detachment of individual from society

B. Indulge in message creation without worrying about moral consequences
C. Surveillance of environment

D. Transmission of social heritage

E. Correlating the parts of society in response to environment

Choose the correct answer from the options given below:
1. A, Band C only
2.C.Dand E only
3.A.Band D only
4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212313469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. Il & GHN Y SHRTGT
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Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212313470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For preservation of their power the ruling elites seek from media channels.

1. Societal intelligence
2. Entrepreneurial partnership
3. Digital technology diffusion

4. Voices of dissent
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212313470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS Bl 30! Al & TR0 g At aHal U 8 & 4 &1 9rgd g2
1. eI gfgadn

2. JEHITAT YR
3. TefSed Uit faarur
4. [y BT TR

Options :
1.1
2.2
3.3
4.4



Question Number : 20 Question Id : 34212313471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Individual who live in a particular community develop distinctively patterned systems of
L. Information distribution
2. Media ownership
3. Media marketing
4. Information imperialism

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212313471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U oI Tegery e ol et eafeeal o e o © o 4 ot egw U] et orifera
fao i 81 ofel 62

1. G faeRT
2. Hifsr w@iffd
3. Wit fquur

4, qd-il <lHleddlq

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212313472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Two persons X and Y invested 15,000 and 20,000, respectively, in a business. At the end of
the year, they share the profit in the ratio of 3:1. If X has invested his money for the whole year,
for how many months Y has invested his money?

1.3

4.4
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212313472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&1 TGl X AR v < U oaw H R 2 15,000 3R 2 20,000 1 e foan| au & 3iq |
I Y Pl 3:1 B STt | e foran| 9 x 3 o e Bl FHT R b feru foar g at y
3 A B Y e AR o fau fa €

1.3
2.6
3.5
4.4

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212313473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain code language A is coded as Z, B is coded as Y. C s coded as X, and so on. How
‘PERFECT’ will be coded in that language?

1. KVIUVXG
2. KVIVUXG
3. KVIUVGX
4. KVUIVXG

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212313473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T @ HWI T A DI 2 &Y Hpedg (b1 TS, B Pl Y & ¥ 1 dess [T g,
B X T T hds (51T g AR SHITHR 3T Heds il T g1 Iad ¥ |
PERFECT" Pl ¥ B (g1 ST

L. KVIUVXG
2. KVIVUXG
3. KVIUVGX

4. KVUIVXG

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212313474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A sum of money becomes 34800 in 2 years and ¥ 42,000 in 5 vears at simple interest per
annum. Find the rate of interest and the sum of money respectively

1. 6%, T 40,000
2. 7%, T 30,000
3. 8%, 230,000

4. 5%, T 35,000

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212313474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U YR 1 QYR ST 63 TR 2 a4 H 2 34800 3R 5 34 H 242,000 81 ST 5| oA
T & d 4RI J1d DI

1. 6%, 40,000
2. 7%, 2 30,000
3. 8%, 3 30,000

4. 5%, 35,000

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212313475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What number would replace question mark (?) in the series given below?
1,7,16,28,43,61,827

1. 102

[

. 143
3. 106

4. 110

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212313475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfaRad 4@ o ugdarEs &g (2) &1 SH 9 G uidwiiud e

1,7, 16, 28, 43, 61, 827

L. 1

[

. 143
3. 106

4. 110

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212313476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In an examination, average marks of six students is 50. However, during cross checking of the
papers, it is found that the marks of one student has been misread as 48 instead of 84. Find the
correct average marks of the students.

152
2.54
3.56

4.8
Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212313476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U WRie ¥ B¢ faaiial o Jied 3ie 50 | It U1 1 O: i e o 7 i U
faeef & ofh] I 84 o W W Telelt 4 T feran 7 o1 | ferrfeat oo g 3t o 1l
DI

1.52

3. 56

4. 58
Options :
1.1
2.2

3.3
4.4

Question Number : 26 Question Id : 34212313477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which informal fallacy is committed in the following statement “Famous actor Jimmy Pecker has
said 1n an interview that astrology s a real science, therefore scientists now must acknowledge
that astrology is actually a science."?

1. Appeal to Inappropriate authority

2. Red herring

3. Strawman

4. Appeal to Ignorance

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212313477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfeiRad e H I SIS b - 19 62
<TG SAHAT o U A T TYTHR H $gl g b S foqH U ardfd fag .
SR AID! B1 3(G%0 HH o1 1T fob e fagH ardfod &0 9 U fagr €1

1. TG TPR U 3G
2. YIHE Udhd (38 2T

3. 919 1 el (RTEH)

4. WIS e

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212313478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are subalternate as per traditional square of opposition?

A. All plants are green organisms

B. No plants are green organisms

C. Some plants are not green organisms
D. Some plants are green organisms

Choose the correct answer from the options given below:

1. Aand D only

2.Band D only

v

3. Aand C only

4. Aand B only

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212313478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAfeRad ® O 19 Y- 3y & URMRE 37 & 3Ulfyd g2

A. Gt Uy gRA g €|
B. Bl H1 U1y gRd Siid 181 §|
C. $9 UIqY gRd Sild gl 3 |
D. $% UlgY gRd Sild |
I feu U 9 el § U T 3R &1 994 DIfSIU:
|.®ad A 3R D
2. Hdd B 3R D
3. hdd A 3R C

4. Hdd A 3R B

Options :




1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212313479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. All cats are carnivorous animals

B. All non-carnivorous animals are non-cats
C. No cats are non-carnivorous animals

D. Some carnivorous animals are cats

Choose the correct answer from the options given below:

1. A. B and C only

[

.B, C and D only
3.A. Cand D only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212313479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafafad # 9 o118 $y difhd U 9 Ad 62

A. Tt fafcerat e o €|
B. T4 TR - igRI U R - fafeedi g
C. By Yl faeedl TR - AiAeRI uxy gl ¢
D. $% Uil U fafcerdi B

A fGu e fasel & 9 HgT IR D1 9G1 BT
1.HId A, B3R C
2. $HddB, C AR D
3.PdA A, C 3R D
4.Had C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212313480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement “all lions are carnivorous animals” is given as true which of the following
statements can be immediately inferred to be false?

A. No lions are carnivorous animals

B. Some lions are carnivorous animals

C. Some lions are not carnivorous animals
D. Some carnivorous animals are lions

Choose the correct answer from the options given below:

I.Cand D only
2. Aand C only
3. Aand B only

4. B and C only



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212313480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 39 e ] 2R IR U= ¢ 1 U o U 4 T T € ol e H ¥ o
G/ BU BT 3T & T 1 dleplfcrd S ol off T 7

A % TR AR R e ¢
B. §8 T AR TR ¢l

C. 39 W AWK T T3l ¢
D. T8 HiTgR T R ¢

i U fodedl 4 Y 9T SR P 99 DI
1. Badc 3R D

2. HIdA IR
3. Hdd A IR B
4, HaAB AN C

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212313481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



As per classical Indian school of logic (Nyaya) which of the following fallacy is committed when
the middle term is too wide?

. Anupasamhari
2. Badhita
3. Sadharana

4. Asadharana

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212313481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QT WA T - 7 (1) & 38R S A9 UG 3fafie faigd gl g f 99
Fgfcfad H Y S - 3N gidl 62

1. SRR
2. 911

3. IHRY

4, YR
Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212313482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Consider the following snapshot of MS-Excel worksheet:

A B E D
17|Day Quantity | Sales Amount (3)
18| Monday |1 234
19| Tuesday |3 144
20| Wednesday|6 367
21| Thursday |3 674
22| Friday § 1099
23| Saturday |3 233

In cell D18, the value returned by the function.
=SUMIFS (C18 : C23, B18 : B23, *“>3", C18: C23, “ >500") is

1. 1466

]

. 2140
3. 1773

4.26

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212313482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A B |c D
17|fe&A HET | faepg i (3)
18|9HarR |1 [234

19[HTgaR |3 [144

]
f—
LA
L)

-1
N

[
Ly
L
[t
Lad
L3

Cell D18 H 99 e gRT oAt d Hed a1 82
=SUMIFS (C18 : C23, BI8 : B23, “>3", C18 : C23, “ =500")

l. 1466

[

2140
3. 1773
4. 26

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212313483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of Computer Networks, which of the following best describes the transmission of a
message using packet switching?

. Data packets may follow different routes and may arrive at different times in different order.
2. Data packets will always follow the same route and arrive at the same time in the same order

3. Data packets will always follow the same route but could arrive at different times in
different order

4. Data packets may follow different routes but will always arrive at the same time in the same
order



Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212313483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR Hedeh| b Ge 1, The R 1 T &R e U & Hafaied § 9 S i
U Yl

1. ST U fir - ot AT o et © 3R o oo # ot el R U Wb

2. 321 b ST Uk B T i1l 31K U 81 6 ¥ U 61 90y R Ul

3. 51 Udve GHT U g1 A1) offl W P 6 A - ol vl R U e
4. 51 Udhe fird - fot o] of el § U o 0 Uah 1 6 H Udh 1 90 R U1

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212313484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about Number system?
1. The binary equivalent of the decimal number 57.625 1s 111000.101

2. (145)6 =(75) 10

L

. (1011), +(1001), = (20)10

4. (65)10=(220)s

Options:
1.1
2.2
3.3



4.4

Question Number : 33 Question Id : 34212313484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UITelt & Heel H 95 # 9 b G HY Tl ¢
1. G U7 57.625 DI fgaR ded 111000.101 B

[

: {145}6 = {75] 10
3.(1011); +(1001), = (20)1

4. (65)10=(220)s

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212313485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about Read Only Memory (ROM) are correct?

A. The contents of the memory remain intact even when the power to the ROM is turned off
B. ROM is often used to store the start-up instructions when the computer is first switched on
C. As the ROM becomes full, the processor has to continually access the hard disk

D. ROM is a volalile memory

Choose the correct answer from the options given below:

I. Aand B only
2.Band C only
3. Aand C only

4 A B CandD

Options :
1.1
2.2
3.3



4.4

Question Number : 34 Question Id : 34212313485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A, 3R 31 T 1 faeyd Sgfd oG g W i i (@TR) 31 sfdde sied Bl ¢

B. 3R 3l T &1 TN G541 HUeR i Uged el el IR SR (RTE 310) 3 b
SRl & folt far oI g

C. 3R 31 TH & 4R 9 T WIEER 1 AR §TS %6 BT ST 1 gl o
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| A 3R B

2. HadB AR C
3. HaA AR C

4. A.B.C3RD

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212313486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about computers?

1. The quality of the pictures taken by a digital camera depends on its resolution, which is
measured In megabytes

2. USB stands for Universal Secure Bus
3. Microsoft Excel is an example of system software

4. The size of a computer monitor is measured diagonally across the screen

Options :



1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212313486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SO S U E G TP T HUH T
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Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212313487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is used as a reference to measure the Global Warning Potential
(GWP) of a green house gas?

L. Carbon dioxide (CO,)
2. Methane (CH,)

3. Chlorofluorocarbon (CFC)
4. Hydrofluorocarbon (HFC)

Options :
1.1
2.2



3.3
4.4

Question Number : 36 Question Id : 34212313487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

P B3 T 1 dfiieh o HToda (oft Saey i) 1 1O i fere fferieaa | 3 foerant
T & wu H T fdar o g

L, IS ST 3MTIZS (CO,
2. A (cHy)

3 L&

3. FARTRRIBTEH (CEC)

4. FEGIRRIDISH (HEC)

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212313488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sustainable Development Goal 7 is related to.

1. Gender Equality

[

. Climate Action

(]

. Affordable and Clean energy
4. Quality Education

Options :
1.1
2.2
3.3
4.4



Question Number : 37 Question Id : 34212313488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tdd faerg deg 7 frad gwafid g2
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(el
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Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212313489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Toxic substances that damage kidneys are called as.

|. Hematotoxic

3

. Neurotoxic

(]

. Cytotoxic’
4. Nephrotoxic

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212313489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG I & Uga dTdl fawred gl &1 fafofad H 9 a1 gl o g
1. gHTCICiagd
2. Rl D
3. ggeleliqyd
4, ApICiaaD

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212313490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Montreal Protocol is related to protection of.
1. Biodiversity

. Glaciers

b3

(]

. Oceans
4. Stratospheric ozone layer

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212313490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



qifead Ureiald fhddb &1 H Traied g2
1. oId fafgerd

[

3. 9%

4. GHAIHS T 3ol WRd

Options :
1.1
2.2
3.3
4.4

[

Question Number : 40 Question Id : 34212313491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are examples of organic pollutants in water.

A. Salts

B. Pesticides
C. Dioxins
D. Bases

E. Pigments

Choose the correct answer from the options given below:

1. A, Band C only

(]

.B. C and D only

LS

.C.D and E only
4. B, C and E only

Options :
1.1
2.2
3.3
4.4



Question Number : 40 Question Id : 34212313491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U BTeS (D) UgRd! & Hgfafad § o 9 Jaeru g

A, cIdu]

B. DI AR

C. Srafifayq

D. &R

E. 3oid (OTHew)

A fGu U [ dl 7§ ¥ 3T SR &1 99 DT
. $dd A B AR C

2. HIA B, C IR D

3. $Had C. D IR E
4. HAAB. C AR E

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212313492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the Buddhist system of education higher education was placed at.

1. The first level

(i)

. The second level

(el

. The third level

4. The forth level
Options :
1.1
2.2
3.3



4.4

Question Number : 41 Question Id : 34212313492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L UYH IR
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3. A TR
4. 9qd &R

o]

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212313493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is a deemed to be university?

1. Perivar University, Salem

[

. Nagaland University, Kohima

(]

. Guru Ghasidas Vishwavidyalaya, Bilaspur
4. Gandhigram Rural University, Madurai

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212313493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 43 Question Id : 34212313494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is included among the core values promoted by NAAC (National
Assessment and Accreditation Council) among the institutions of higher learning

1. Framing National Education Protocols
2. Promoting religious education
3. Total Privatisation of education

4. Fostering global competencies among students and teachers

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212313494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1] 7 ¥ I wTferd g

L, BT 18T TeTeprct &

2, 4w e Haef

3. TRe 1 g el

4. ot @ fRieie! & ot Ay Seware &1 am

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212313495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true regarding Fort William College?

A. Its medium of education was English

B. Lord Wellesley taught here

C. Ishwar Chandra Vidyasagar taught here

D. It was here that Ishwar Chandra Vidyasagar Studied along with Subhash Chandra Bose

Choose the correct answer from the options given below:

1. A, Cand D only
2.Band D only
3.A.B,C.D

4. Aand C only

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212313495 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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|.hdd A, C 3R D

2. HadB AR D

3.A,B,C,D

4. HITA R C
Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212313496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to National Education Policy 2020, which of the following universal human values
will be considered as an integral part of holistic education?

A. Truth

B. Sympathy

C. Righteous conduct
D. Nonviolence

E. Scientific temper

Choose the correct answer from the options given below:

l. C and E only
2.B,Dand E only
3.A,C.DandE only

4.A,B,Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212313496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. BaqA. C.DIRE
4. BAAA B, C 3R D

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123530
Question Shuffling Allowed : No

Question Id : 34212313497 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension



The field ecologist has played a key role in shining the light on the species we love and admire.
They have also underlined why conservation should not be just about caring for a few charismatic
species-the cats, elephants, whales, or Olive Ridleys. It's also about knowing the value of
creatures many of us might consider annoying, even dangerous. For millennia, communities have
attempted to protect animals and plants for practical and spiritual reasons. However, for around
two centuries or so, an anthropocentric view of the world created an ecological discord of sorts.
Utilitarian ideas began to dominate attitudes towards nature, which often meant that even
conservation had a strictly commercial purpose.

Modern environmental consciousness is perhaps about six decades old. In India, organisations
such as the Bombay Natural History Society date back to the late [9th century and the endeavors
of hunters-turned-conservationists played an important role in underlining the value of several
species. But systematic efforts in mainstreaming ecology began much later and owed much to the
works of pioneers like Salim Ali and M Krishnan,

Sub questions

Question Number : 46 Question Id : 34212313498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Utilatitarian ideas started dominating attitudes towards nature about.

1. 2000 years ago

[

. 60 vyears ago
3. 100 years ago
4. 200 years ago

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212313499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Modern environment consclousness Is.

1. ~ 20 years old

(]

. ~ 40 years old

(]

. ~ 60 years old
4. ~ 100 years old

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212313500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Identify the charismatic species based on the information given in the passage.

A. Deer

B. Whales
C. Elephants
D. Dogs

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3. Cand D only

4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212313501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct statements.

A. Conservations is all about caring for the species we love and admire
B. Communities have been living in ecological harmony for the last two centuries

C. Field ecologists have contributed to our understanding about the value of different species in
our lives

D. Salim Ali is considered as pioneer in India in the field of mainstream ecology
Choose the correct answer from the options given below:

I. Aand B only
2.Band C only
3.Cand D only
4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212313502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Communities have been involved in the protection of plants and animals for the last.

L. Several thousand years
2. 200 years only

3. 60 years only

4. only recently

Options :
1.1
2.2
3.3
4.4

Question Id : 34212313497 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 34212313498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SYAifaEre] fGaRi = Ha Udid & Uid AAIaREl R Yad g1 TR fdar 2
1. 2000 94 Ugdl

2. 60 9N Ugd

3,100 99 Ugd
4,200 9N Ugdl

Options :
1.1
2.2
3.3
4.4



Question Number : 47 Question Id : 34212313499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

yfd gafarvig I &:
1. ~ 20 94 QR

 ~ 40 99 QR

.~ 60 98 QR

.~ 100 Y QR

Options :
1.1
2.2
3.3
4.4
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Question Number : 48 Question Id : 34212313500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT
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c. gt
D. T
I fu TTU fddhedl § O a1 3R &1 994 HISIU:

1. hdd A 3R B
2. HAdB 3R C
3.$ad C 3R D
4.Hdd A 3R D

Options :
1.1
2.2
3.3




4.4

Question Number : 49 Question Id : 34212313501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212313502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
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3.3
4.4
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Question Number : 51 Question Id : 34212313503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following scholars have translated the ‘Panchatantra’ into German language?

L. Jacob Grimm

2. Max Muller

3. Richard Dorson
4. Theodore Benfey

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212313503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0





